Boa—7 HEBIERF
(18]
A J4—JLE
No | wenstn | mm | 7w % wo- o | lsmem | aw | me |4
1 9:30 1% 100m | 7| (4—0+8) |30 9:30 % il FL & |18
2 9:45 1% 100m | 7| (8—2+8) |57 9:30 5 & g Bk | 34
3 10:10 | 2% | 100m |¥] (4—0+8) |31 9:30 Bl moE Bk | 2
4 10:25 2% 100m |F| (6—2+4) |40 10:30 1z & m Bk |12
5 10:45 3% 100m | 7| (2—3+2) |12
6 10:55 3% 100m |F| (4—0+8) |30 1100 | B | H & & Lo
7 11:10 # | 100mVYH |k 4
8 11:15 Bl 110mJH |- 3
9 11:25 1% 100m |#] (3—2+2) |24
10 | 11:40 2% 100m |#] (2—3+2) |16
11| 11:55 £ ] 1000m | F|(3—0+15) |41 12:30 L4q A g Bk | 26
12 | 12:20 5 1000m | Pl (5—0+15) 71| 12:30 % & m Bk | 10
13| 12:55 3%Z| 100m |k 8 12:30 28 i L |13
14] 1300 | 3% | 100m |k 8
5] 1305 | 24| 100m |k 8
6] 1310 | 2% ] 100m |k 8
17] 1315 | 14| 100m |k 8
18| 13:20 15 100m |k 8




Bo-2—7 HBRIEF
(562H])
N J4—I)LK
No | wenstn | mm | 7w % w - % | g (smem|mw | ome |
1 9:30 8 100mH | 7| (2—3+2) J10 9:30 NG AE bR BE | 25
2| o0 | m | tromn|r] (2-s+2) 12| e |77 [vrmong]
3 9:55 8 145m | 7| (4—0+8) |27 9:30 Ml EE Bk | 4
4 10:15 % 145m | 7] (5—0+8) |35
3 10:35 |/6&] 100m | 7| (4—0+8) |31
4 1050 /6% 100m | 7| (4—0+8) |24
5 11:.05 |5 100m |F| (4—0+8) |27 1100 | /& | £ hE Bk | 16
6 11:20 /5% 100m | 7] (5—0+8) |34
7 11:35 |/MZ| 100m | 7| (3—0+8) |20 11:30 J |y yrxa—] 25
8 11:45 /%] 100m | 7] (4—0+8) |26
9 12:00 /%] 100m |F] (2—0+8) |15
10| 1210 /3% 100m | 7] (4—0+8) |27
11 ] 12:25 % 100mH |k 8
12| 12:30 i 110mH |k 8
13| 1240 | /| 4 X100mR || 2f1% A HL—A
14| 1255 | /hH | 4 X100mR |P| 2% A HL—A
15| 13:05 Z ] 1000m |k 15| 13:00 | B | = Bt Bk Jio+2
16 | 13:15 % 1000m |k 15 1300 |/NAE| & & Bk |9
17] 1325 |/hz | 800m |k|2H& AL —2] 17| 13:30 Il PERVEZEEE Y
18] 1335 | /% 800m |k|2M%Z A 1L —2R]) 27
19| 13:45 s 145m | 8
20 | 13:55 v 145m | 8
21 A3Zl 100m |k 8
14:05
22 3B 100m |k 8
23 Mt 100m |k 8
14:15
24 MBL 100m |k 8
25 Mol 100m |k 8
14:25
26 /B 100m |k 8
27 /Mol 100m |k 8
14:35
28 /6B 100m |k 8




